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QUESTION 1

A developer notices thattildes (~) exist in the category codes. What can be done to avoid unstable MUN values? 

A. Perform a Clean House. 

B. Resolve the non-unique keys within a dimension in the data source. 

C. Regenerate the categories. 

D. Ensure the values are non-conformedin the data source. 

Correct Answer: B 

 

QUESTION 2

Transformer is unable to locate one of the source files for a data source in the model, and the model update fails. Which
type of files can be used to restart the processing at the point of failure? 

A. .py? 

B. .qy? 

C. .mdl 

D. .mdx 

Correct Answer: B 

 

QUESTION 3

What can a developer set up to analyze actual, planned, and forecasted budget information that do not rollup into a
single root category? 

A. Scenario dimension 

B. Calculated category 

C. Special category 

D. Exception dimension 

Correct Answer: A 

 

QUESTION 4

What improves performance in the reporting application by combining records with identical non-measure values? 

A. Consolidation 
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B. Partitioning 

C. PC Optimizer 

D. Crosstab caching 

Correct Answer: A 

 

QUESTION 5

What modeling factor affects the auto-partitioningstrategy and causes poor consolidation for partitioned categories? 

A. Wide, flat dimensions 

B. Well-balanced hierarchical dimensions 

C. Allocated measures 

D. After rollup calculated measures 

Correct Answer: A 

 

QUESTION 6

What must be unique to create an alternate hierarchy? 

A. The top level 

B. The highest level in a dimension 

C. The lowest level in adimension 

D. The level of convergence 

Correct Answer: D 

 

QUESTION 7

If a cube group based on a level in a dimension is created, how can thedeveloper prevent another cube from being
added to the cube group? 

A. Ensure the level labels and category labels remain unchanged. 

B. Specify a category limit for the level. 

C. Prevent the automatic creation of categories. 

D. Exclude the dimension from auto-partitioning. 

Correct Answer: C 
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QUESTION 8

The dimensions in the model include Product, Customer, and Order. If the Powercube should focus on the sales orders,
how can the developer remove customer data? 

A. Omit the dimension from the PowerCube. 

B. Apex the dimension in the model. 

C. Set measure allocation for the Customer dimension. 

D. Suppress the dimension in the model. 

Correct Answer: A 

 

QUESTION 9

A group called Authors is used in a custom view. How is information updated if the Author group members change in the
authentication provider? 

A. The PowerCube must be rebuilt. 

B. The services must be restarted in Cognos Configuration. 

C. The changes are automatically updated at run time. 

D. The package must be republished. 

Correct Answer: C 

 

QUESTION 10

How can the cube build flexibility and performance be maximized? 

A. Enable Consolidation. 

B. Enable the AutoSummarize property. 

C. Combine Structural and Transactional data into one data source 

D. Preprocess the data. 

Correct Answer: D 

 

QUESTION 11

A developer added a manuallevel in the time dimension. During category generation, the developer gets a warning that
Transformer is not able to relate the categories to the parent levels. What must be done to ensure Transformer relates
the categories correctly? 
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A. Specify a date function for each level. 

B. Specify date input format. 

C. Specify an Invalid Dates category. 

D. Specify a time-state rollup. 

Correct Answer: A 

 

QUESTION 12

A developer created a cube for each regional Sales Manager. Each cube shouldcontain only the transactional details for
each Sales Manager\\'s region, as well as the summarized values for other regions. What should be created? 

A. Custom view 

B. Cube group 

C. Apexed view 

D. Suppressed view 

Correct Answer: B 

 

QUESTION 13

Which option decreases cube size by removing data from the cube? 

A. Suppress 

B. Summarize 

C. Apex 

D. Cloak 

Correct Answer: C 

 

QUESTION 14

How can a developer populate a level with a different data source column? 

A. Through level properties. 

B. Through column properties. 

C. Through data source properties. 

D. Through data source scope. 
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Correct Answer: A 

 

QUESTION 15

How can a developer rebuild an incrementally updated cube? 

A. Enabletime-based partitioning and rebuild the cube. 

B. Clean house and rebuild the cube. 

C. Save the model, and revert to the backup .mdl file. 

D. Delete the old .mdc file and recreate the entire cube. 

Correct Answer: D 
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